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Candidates should answer all the questions in PART ~ I
( Objective type ) ( 1 to 75 ) in the separate OMR Answer Sheet
supplied. ( Refer Instructions given in the OMR Answer Sheet )

The sign ‘=m'( dash ) as found in the Right-hand top corner of

the Question Paper { i.e., E] (1) or EE} {2) or

[ == =] (3) or [ - | (4) should be shaded in
the OMR Answer Sheet using HB Pencil.

Time allotted for answering question numbers 1 to 75 is first
75 minutes. o ‘

Part - II and III questions ( 76 to 110 ) should be answered in the
main answer-book. )

PART -

Choose the best answer : 7B x1=75

1. What is the keyboard shortcut to move the insertion point to the end of a

document in StarWriter ?

A

B}
_ o

D)

Home

End

Ctrl + Home

Ctrl + End.
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To create a new document in StarWriter, select

A)  File - Text document |

B} File - New — Text document

C} File - Open — New

D) - File — Text document — New.

The shortcut key to Sélect_the entire document in StarWriter is

4 Cul+F B) Ctrl + C

O Ctrl+V D) Citrl + A

In StarWriter the size of the fonts is measured in

A}  points B) | inches

C) om D} mm.

In StarWriter the key pressed to select the spelling correct dialog box is
A F5 : o B) F7

C F2 o | | D) F3.

In StarWriter, the command used to select the table is

4A) Format —9 Column . B) Edit — Select all

C) Edit — Select D) Format — Select all.
The default top margin in StarWriter is
A} 2inches B) 1.5 inches

C) 1inch .D) 1-25 inches.l

The shortcut key used for making the text céntefed in StarWriter is
Al Ctrl+ E Bl Cul+C

C) Ctrl+ R D) Ctrl + J.



10.

11.

12.

_ 3
In StarWriter, the page numbering style can be changed using

4A) Numbering Combo box B) Bullet list

C) Numbering Dialog box | D} Numbered Hsf.
An electronic spread sheet is a |

Al Text | ' B)  File

C) Picture D) Software.

The maximum number of rows present in StarCalc is

A 3200 ' B) 32000

C) 256 o I?) 42000." |

Excel package was developed by

A)  Borland International B}  Sun Microsystems
C) Lotus Corporation D} Microsoft Corporation.
In StarCalc, the type of data Whiéh is not used fo_r_ calculation is

A Label | B) Date

C) Number D} Decimal Number.
The key which is used to edit the data in StarCalc is

A F5 o B} F1

C) F2 ' ' D) F7.

The reference operator in StarCalc is

A+ B &

Q = D) !

Flat file datébase isa{an)

A)  single data table . " B)  structured data table

C) set of related tables D)  associated with objects.
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18.

19.

20.

21.

22.

23.

24.

4
A feature for displaying and browsing a selected list from a StarBase table is

A)  Searching - B) Filtering

C) Editing o D) Report generation.
In StarBase to move the cursor from one field to the next, press

A)  Shift key ' B) Ctrl key

C) Back space key D) Tab key.

StarBase filter is a type of |

A)  Sorting | B) Subset |

C Query ' D)  Multiple sorting.

Which is simply a screen that displays the flelds of a record in a well spaced
manner in StarCalc ?

A}  Report | ]3} Query

.C) Form _ D} Filter.

The number of default toolbars available in VB is
A 3 B) 4
cQ 2 D) 5.

Most of the Visual Basic windows are

A Dockable B) Not dockable

C) Fixed D) Not movable,

The window 'whiéh is helpful to identify the VB files in a project is
A) Form B) | Properties

C} Form Layout . D) Projec{ Explorer.x
To run a VB project, press

A F7 B) F2

,C) F1 D) Fb.



25.

26.

27.

28.

29.

30.

31.

5
To define a variable as Global, the statement used in VB is

A}  Variant B) Private
C) Public D) Dim.

A VB varlable must begin with

A) Alphabet B) Number

C) Special character D) Key word.
The default property for a VB option button is

A value | B) path

C) caption - D} text.

What is the deféult event of a. VB command button ?

A)  Click() | ' | lé) Change(}

C) Load{) o . D) Got focus( ).
The prefix used to name the VB Combo box is

A Chk ~ B cmg

O Cho D) Cmb.

Which control in VB ;s with the extension .Vbx ?

A ActiveX B) Standard

C} Insertable objects ‘ - D) Program code.
In VB, the top half portloﬁ of the menu editor is called as

A}  Editor |

B} Menu

C] Menu Control List Box

D) Menu Control Properties Area.
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33.
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37.

38.
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In VB, to add application wizard, which of the following is selected from Add-Ins
Menu ? _

A) ToolBar : - B} Tools Menu

C) Add-In Manager b] Menu Editor.

In VB, Graphical Check Box looks like

A) List .Box Bi Command Button
C) Combo Box . . . D) Text Box.

Which of the following is used as container control in VB ?

A) Menu B) Text

C) File D) Frame.

VB Combo hox occupies

A} Less space _ B) More space |
C]- No space | D) Not exﬁandable.

In VB, user can give information through the function

~A) List box B) Label

C) Combo Box D) Input Box.

In VB, the icon displayed for the' IntStyle value 64 in the message box is
A) Critical Message B) Information Message

Q) Warning Query | ' D) Warning Message.

In VB, animation control is present in the file

A) Microsoft Sfudio

B) Microsoft Window |

C © Microsoft '.Control Window

D) Microsoft Windows Common Controls 2.5.0 { SP2 }. -
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40.

41.

42.

43.

44.

45,

7
The number of VB keyboard events is

4 3 B 4

C 2 D)/ 5.

In VB mouse oriented event Dragover occurs

Al  when a mouse button is released

B) when a user presses left mouse button

C) when a userisin the process 6f dragging an object
D) | when a mouse button is pressed. |

In VB, circle, ellipse and arcs are drawn using the method -

A} Ellipses B} Circle .

Q) Arcs D) Line.

In VB, to cancel the print in the printer object, the method used is
A) Kill Doc : B) End Doc

C) Cancel Dot | D) New Page.

Which of the following is the latést data access interface ?

A ADO | B) RDO

¢) DAO N D) DRO.

random access is

A} Write - o o ' B} Get
C) Input D) Put.
In VB., the defaﬁlt shape for shape control is

A)  Rectangle B) Line

C) Ellipse ~ D) Square.

In VB, the statement which is used to add/replace records into files opened for
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47,

48.

49,

" 50.

51.

. 52.

GIF stands for

A}  Graphics Interface Format

'B) Graphics Interchange File

C) Graphics Interface File

D) Graphics Interchange Format.

In VB, the box which dlsplaysl icon is

A) List Box B)

C) Text Box D)

Which is a more generalised and more efficient strategy for data access in VB ?

Al RDO B)
C) DAO D)
The character range of an integer in VB is |
A) - 32767 to 32767 B
C) - 37268 to 37268 D)
In VB, the keyword ‘Me' indicates

Al Currently loaded form

B) Currently loaded file

C} Currently loaded project

D) Currently loaded window.

Unary Operator in Java is

A+ B

Q) ++ | D)
JDK stands for

A) Java Developers Kit B}

- C} Java Duration Kit D)

Input Box

Message Box.

OLEDB

ADO,

- 32768 to 32768

- 32786 to 32786.

Java Data Kit

Java Database Ki't.
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54.

55.

56.

57.

58.

59,

Continue statement in Java is used to transfer the control

A) tothe beginnj'ngl of the loop

B} to exit out of the loop

C) to continue the remaining statements in the loop

D) none of theée. |

Optional statement for Java switch statemént is

A)  Continue B} Exit

C) End ' D) Break. .

In how many ways are Java arrays declared ? |

A 4 B 1

0 2 D) 3.

The nlethgd used to search a string for a particular éharacter in Java is
A index Of (ch) B index Of ( str)

C) char At (1) ' D) equals { str ).

If  .String str = “Happy Birthday” ;

-str.starts with ( “Happy” } will return

A)  false o | : B} true
o 1 D) -1
Java Database Connectivity (JDBC ) makes the connection to a variety of
A)  Flat file databases o - B)  Relational databases
C) Hierarchical databases D) ‘. . Object oriented databases.
In Java, object file is made of

A)  Source files B Programs

C) Byte codes D) ASCII codes.

[ Turm over
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66.

67.
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Which of the foliowing is a compulsory attribute of an applet tag in Java ?

A)  Align B) Vspace

C} Codebase D)‘ Code.

Java uses a different character set called as

A AsCn ' R ~B) EBCDIC

0 BCD o D) Unicode.

In Java, the index number of a string always starts with

A) any yalué B) 0

0 -1 D) 1.

In Java, the functions that call themselves are called as

A) Function | B} Loop

C) Recursive function D) Class function. '
The function in Java that does not return any value is called

4A)  void function B) integer function
C) public function D) static function.
Which of the following is not a Java feature ?

A)  Polymorphism - B) Inheritance

C) Null-terminated strings - D) Encapsulation.
The tool kit that allows to build GUI in Java is

A) JDK S B) AWK

C) AWT . D} JDBC.
Which Java package provides core Java functionality ?

A javé.beans B)  java.net

C) javalo - D) java.util. |



68.

69.

70.

71.
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Which of the following operators in Java is used in a method to refer to the

object which invoked it ?

A) New operator B} (.) Dot operator
C) This operator | D) Open operator.
Which class modifier creates a class that cannpt be extended ?
A) Abstract : B) Final

C) Private o D) Public.

In Java, how many variable modifiers are available ?

a 7 B) 3

C)] 8 D) 11.

‘The class from which subcla.sses are derived is called as

A} subclass B) class

C) methods D) super class.
‘Which keyword is used to create a subclass ?

A) Static B} Extends

C) Super D) This.
Which-method modifier keyword acqﬁires a lock when it starts execution ?

A)  Private B) Final

~C) Static D)  Synchronized.

Which method in Java is used to make the caller wait till the current thread

finishes its execution ?

A) synchronization B) join()

C) start() o D)  stop().

How many constructors are available in color class in Java ?
A 3 B 2

a 1 D) 4.
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PART - I
Answer any twenty questions : 20 x 2 =40
Define Text editing. |
What is the difference between copy and cut commands ?
What is meant By Automatic Spelling Correction ?
Explain Absoluté Cell Addrcssing with anlexémple.
Write a 3D formula of StarCalc. Explain its function.
On the bgsis of the conceptual structures, how are the databases cla.ssiﬁed ?-
What is Database Management Systém ? |
What are the various types of windows available in VB ?
Write a short note on ‘form module’, |
What is meant'by shadéwing ?
Write the output :
Msgbox “Best Wishes”, Vb Ok Only + Vb Critical.
What .are the two most important properties of menu control ?

Write the difference between check box and option button.

Write the different formats of Combo box.

What are the types of graphic files supported by Paint Picture Method ?
What is a variant data type ?

What are container controls ? What is the use of thcée controls ?
Write a short note on API.

Explain ‘indefinite loop’ in Java with an example.
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What is an array ? Give an example.

Write the output :
StringBuffer sample = new StringBuffer ( “Table” ) ;
sample.set CharAt (O, 'C');
System.out.println { sample ) ;

What is meant by Java beans ?

What is method overriding ?

Write the use of ‘New' operator,

What is meant by constructor ?

PART - 111

Answer any seven questions :

7x5=3b

How will you select the required portion of the text in StarWriter documents ?

Write the functions of icons present in StarCalc Inserting Object floating tool

bar,

. Explain the procedure to generate reports in Starbase.

What is loop ? Explain For ...Next loop in VB with syntax.

Explain with example about any 5 methods of List Box Controls of VB.

Explain the following :

+f) Timer Control in VB.

i) Classification of controls in VB.
Explain user events in Visual Basic.

Describe Life Cycle of an applet.
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109. Debug the following Java program to get the given output : ( Any 10 errors )
Output :

First method

Delhi is an important city

Delhi is an important city

- Second method
- Bombay is a beautiful city
Bombay is a beautiful city
Bombay is a beautiful city
Program :
public Class over
{ -

public void overload( )

{ _
System.out.Prlntln[.“First method” ) ;
for (i=1;i<=2;1++)
System.out.printin( “Delhi is an important city” ) ;

) | -

Public void overload { String s )
system.out.println{*Second method”} ;
for(inti=1;i<=3;14++)
System.out.println(r s)

}

public static void Main( string args[ ) ;

o
over p=ﬁew over() ;
p.overload ;

p.overload( “Bombay is a beautiful city” )
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110. Give the output of the following Java Program :

class sample

{

inti,j=2 k=25;

float nurﬁ 1, num 2 =50 ;

boolean test ;

String name 1, name 2 = “Mahesh” ;

}

class prg
A

public static void main( String args| 1
{
s;ample obf = new sample( ) ;
System.out.println( obj.i) ;
Systém.out.println( obji); .
System.out.printin( obj.k } ;
Systcm.duf.prinﬂn( .obj. num 1) ;
System.out.printin( obj. num 2 ) ;

. System.out.printin( obj.test ) ;

System.out.printin( obj.name 1) ;
System.out.println( obj.name 2 ) ;

}




